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The Absolute Value Function see —"“"“"
The Parent Function: f(x) = |x|
...wherea=1,h=0;k=0
Graphic Form of the Function
f(x) = a|x-h| +k
Translations ( 10t
The VERTEX is (h, k) _ 7 =
-h shifts f(x) to the left h units g y L‘i(x) :
+h shifts f(x) to the right h units e
K shifts f(x) up k units 1 i N g
-k shifts f(x) down k units 2 1 2
3 < L - >
Reflections & Dilations 2 -10.-8..-6.1 -4 - - 2 6-1.8-110
“a” is the “rate” of f(x) 4 i <
+a opens upward -1 : 4
-a opens downward 2 1 &
0 < a < 1 vertical compression 3 3 o
a > 1 vertical stretch C
-4 L"’ 10\;
State the vertex and describe the dilation and/or refection BEFORE you graph each function. )
Do not use a calculator! It‘rgffm R
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; 110,.M,4,,,. P i }5“‘3
-8 8
F+ ; 5
{ 5 (=4

4 4 !
2 2 I
1008 6412 L2 48810
H 2 < : —
4 4 -
i of Ci ]




¢ ! -
i aé ﬁ / L" P 0 Name_____ AT+ N -
i} INEEY LUNCUION pate — " piock
The Parent Functions(f(x) = x | ‘
...where a=1h=0;k=0
Graphic Form of the Function Three forms of a Linear Function:
f(x) = a(x—h) +k o Slope-Intercept: y = mx + b
which is the same as... e Standard: Ax + By = C
Point-Slope y = m(x—x)) +y e Point-Slope: y = m(x —x;) +y,
Translations S p’“
The VERTEX is (h, k) - s /
-h shifts f(x) to the left h units R :{(") - A
+h shifts f(x) to the right h units ik ° yd
k shifts f(x) up k units 3| - dp e
-k shifts f(x) down k units -2 _y s 2
-1 ot < L >
Reflections & Dilations . 108642y 2 6--8-110
“a” is the “rate” of f(x) 0 L -
+a rises 1 { 7 4
-a falls 2 1. . 5
0 < a < 1 vertical compression 3 5 T o
a > 1 vertical stretch £
4 U — —-10p
State a point and the slope BEFORE you graph each line. Do not use a calculator!
a//' _”'"\, £y, 5,7 -
1. y=2(x—-4)-5 \ﬁh‘?/ 2. y=——1— (x+2)+6 “U} 3. y=—5—(x—3)+2 { ‘;uf) m/-g
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4, f(x)=-4(x-1) | X Wi'i"?“‘“f 5. f(x)=—(x+3)-6 x:’?’)ﬁ,‘éﬁj 6. y=-5 %\,@, {f/’“ m=J
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